Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2015

Subject Name : Electrical Traction and Control

Subject Code : 2TEOSETC1 Branch :Diploma(Electrical)

Semester :5  Date :09/12/2015 Time :2:30 To 5:30 Marks :70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
a) Hz Frequency used in 1- @ Low Frequency AC System.

1) 10 Hz
2) 25Hz
3) 30 Hz
4) 40 Hz

b) Drive Suitable for Mining Site.

1) Diesel Electric Drive
2) IC Engine Drive
3) Electric Drive
4) Bettery Drive
c) Distance Between two Substation in 600 Volt DC System is Km.
1) 3Kmto5Km
2) 7Kmto 10 Km
3) 5Kmto 15 Km
4) 15Km to 40 Km
d) In Magnetic Levitaion , Force F=
1) BIL N
2) BIg N
3) pIH N
4) VIR N
e) Service has no Free Running Period.
1) Main Line
2) Sub urban
3) Urban
4) 2&3



f)  In Repusion Motor Torque T=
1) K& Sin2a
2) K@ Cos2a
3) K@Sin2a
4) K@ Cos 20
g) Inidentification of Locomotive WAG; means
1) Broad Gauge , AC Supply, Goods, First Class
2) Meter Gauge , DC Supply, Mix, Second Class
3) Broad Gauge , DC Supply, Passenger, Third Class
4) Meter Gauage , AC Supply, Goods , First Class
h) As per Stautory Regulations, VVoltage difference between track and Earth is
____Voltat any Point.
1) 12 Volt
2) 20 Volt
3) 40 Volt
4) 4 Volt
i) SWER means
1) Single Wire Earth Return System
2) Single Wound Earth Rotor System
3) Slide Wire Electric Return System
4) Single Wire Earth Router System
j)  Regenerative Breaking Applied at Km
1) 20 Kmto 10 Km
2) 30 Kmto 15 Km
3) 16 Kmto 6.5 Km
4) 12 Kmto 7.9 Km
k) In Air Break System, Air pressure Applied to Break is
1) 10 kg/cm?
2) 9.3 kg/cm?
3) 6.5 kglcm?
4) 5.5 kg/cm?
) Speed is the maximum speed (Vm) attained by a train during the
run.
1) Average Speed
2) Scheduled Speed
3) Crest Speed
4) Virtual Speed
m) The total weight to be carried on the driving wheels is known as the

1) Adhesive Weight
2) Dead Weight

3) Apparent Weight
4) Extrinsic weight

n) Current Collecting Capacity in Bow Collector is A.
1) 100 A
2) 300 A
3) 400 A
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4) 600 A

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

> W > OW>

w > W >

Ow>

Ow>

Attempt all questions

Write advantages and Disadvantages of Electric Drive

Write Short note on ‘Indian Scenario- in Electrical Traction.

Write Short note on Linear Induction Motor.

Attempt all questions

Explain Magnetic Levitation and Give Example of Magnetic Levitation

Explain overhead Current Control System

Attempt all questions

Derive Equation for Maximum Speed in Trapezoidal Speed Time Curve.

An electrical train operating between two stops 2 km apart as average speed of 44
kmph. The rate of Acceleration & Retardation is 3.1 kmphps and 2.2 kmphps
respectively. Find the value of Max. Speed assuming trapezoidal speed curve.
Also calculate Acceleration Time and Retardation Time.

Attempt all questions

Describe Why DC Series motor is ideal for Electric Traction.

Explain Series to Parallel transition methods.

Attempt all questions

Explain Catenary System.

Draw and Explain Power Circuit diagram of Composite locomotive system.
Attempt all questions

Explain Rosenberg Generator.

Explain Arno Converter

Explain working principle of Metadyne. and Explain Metadyne Control for
double Traction Motors.

Attempt all questions

Explain Plugging Method for 3-@ Induction Motor

Explain Merits and Demerits of Regenerative breaking Method.

Explain Regenerative breaking applied to DC series motor.



Q-1

a)

b)

c)

d)

f)

9)

a2l

o{lAell YR ol scllol AU,

1) 10Hz
2) 25Hz
3) 30Hz
4) 40 Hz

slecl Wl Hi2 09 8.

1) slad sAles slsa
2) AW Al Aot g8l
3) sAles svd

4) 23l ssd

600 clce SLfl utld Ul A GUZeR clRA of AR

1) 3 ol 56

2) 7(5:l el 103
3) 50l ol 15 (20l
4) 15 (33l ol 40 (33

NoaRs Acll2alet U, ol F= ojeal .

1) BIL o3j2el
2) BID o3j2el
3) MIH 2ot
4) VIR o?j2et

Al UL Y5 €S oll A Sl otell.

1) Ael AlEal

2) A 233 dlraR
3) 283 dlralR

4) 2 a3

yldsael He: s T=
1) K@?Sin2a

2) K@ Cos2a

3) K @Sin2a

4) K@ Cos 20

ASEl ol OBl 1L WAG, AeA.
1) s A%, yeuddl o yeaus |

Hz glscill As yuadl dlos yats ofliot glsciall utelld Hi aura .

_ Bl Al Gell Qe ®,

HIAA Moty ARl
2) Hle: A, As €lat dlor yans , Hslld, dlcdlar Rwell
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3) olls A, As elat clx yals , s |, gdla el
4) 2R A%, yeuddl dlo yals, HiduHet  yaux el
h)  staeifla R edrir et uel ua sHlot c Sl uel olle A ARy o
dsleld ------- dee 8l ®..
1) 12de
2) 20 Al
3) 40dle
4) 4 A
) SWER A2a.
1) oA ctar wd ol flen
2) ol aBs el Aer AleH
3) AMUSS dlAR FAles eol Alren
4) oA ataR el ABG e Yleu
D yelFetolla QBot ------ (21| — Bl yell oy s d.
1) 203l ol 10 (31
2) 30 (33l 2l 15 (33l
3) 16 (53l ol 6.5 (3
4) 12(5:1 N 7.9
K sal As ued@ i, --------- Sl /AH?  sal of ectlal Qs A WUAH] WA B.
1) 10 slo/ A2
2) 3 slu/AH
3) 6.5 slaw/A?
4) 55 glo/A?
D oA e2Rau0t A RNAA HerH oA A o 53 B.
1) AR QA
2) [ad uct ald
3) [Quwr ald
4) el aulad
m) ste(clol cdled UR oll . cloolal RHEENGIURS
1) Aol aoet
2) Yd d¥el
3) AW %ot
4) WIgs c%¥el
N ol doiss Al Yyl yous @0 53 ak D.
5) 100 ArdlaR



6) 300 B2
7) 400 AR
8) 600 B2

o{lAotl Ust Q-2t0 Q-8 Hi Al 51¢F ULl 4 Ysll oll wcllod VUL,

Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

O @

ol Aatl Ysll ol cllot 3L

BAES SISl oll SLAEL Aol NFAEL HRUA.
gsoll cull.”(Ad dsdel 1L elkd ol RAMQ.”
2soll cull u{la Yot e

o{lAoll Y&l ol cllol .

Jorsla Acleatet ol Rt Gletgel AUl uueal,

QRAUI yeus dolss Ul uHesAl.
o{lAell YL ol wclled A,

AHACUSIR AU UHA a5 HE HeTH AUA HER of YA ARAL

As [QAeefct 2ot 2 (33l g2 wAcl A Rl aRA Aol €2 sclld 44 BHloll AAUIL
allQell €13 B.uUHl Yaol Ul Aolreat ol (BHt AofsA €2 ASY €2 scud 3.1 (3l
ua 2.2 (3l owll. uHciest oUd dHA ds W Sotoll HewtH A M. yadL
ol AdLHEA oll UMHA A

o{lAoll Y&l ol cllol W,

SIl RSl HeR 8AsEls 2s2lot HIZ W M e ® auldl.

ARl ol UHIcR isHaL ofl A uHAA.

o{lAoll Y&l ol cllol W,

2%ycls Uedld uMesdl.

At ASEl ol gl €131 Aol steiyriell Aol

o{lAoll Y&l ol cllol W,

Axetetdl Aot UMl

ol URads uHsal

R2LsLEel oll Rtlld UHMA. WA A 5ol H2R HIE RelsieSet ofl2istel uHestal.
ol Aotl Yl oll cllel W,

B-ylera Yol Hle? 12 welBlol Q5oL yHestAl.

Yoloto{lal QB0 oll $LAEL Wal ARSLAEL U

As €lat Aell MWe M2 YotFatollal QoL AHxtAl.
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